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Note:

2016

IN MANU

@

AII Qtl4stions are compulsory and. each question is of I mark.

qi# q,qrd d .ir+cali 6? frrPn t qful aVs 6l qq | 1

Only Engllsh version is valid in case of difference in both the languages.

pftroarft':30
[Meximum Marks : 30

(i,

l. frrr { t fuF*r frtfltur *q *Enr;16T
toqrqrg+ilrt?
(a) frrfi
(b) q+
(c) slFnFI

(d) q+ qtr

Yff€fu qtftro.+tffiT{rtEnet
(a) S+{Hiqfr{Enr
O) qmdffiEnr
(c) d+fi{qmrnr
(d) s*nfrt+*?'67

qnfir+, q Gr +t qqiH'r ut w ffi t
(a) USM ERT

o) EDM ERr

(c) ECM ERr

(d) LASER ERr

l. ' Which of these cannot manufactured
by Broach ?

(a) Gear

O) Key
(c) Spline

(d) Key Way

2. Plastic bottles for cold drink are
manufactured by
(a) Injeption moulding

O) Blow moulding
(c) Compressionmoulding
(d) None of these

3. Plastic and rubbEr can be machined
by
(a) USM

o) EDM
(c) ECM
(d) LASER

!

,.

I

2.

3.

I
P.T.O.
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4. *aurgoqmqrdrt
(a) qilda*'era

O) nfut*snr
(c) ritfrrro'Err

(d) qFqw*'rnr

5. qRore+t trrntz.oo mm itrn ftrmr +,.
ffz.sommd, frfu-ffqtqil
t
(a) t.2s

o) 2.00

(c) 0.8

(d) 1.33

w wt q r'tr{ 51 y6R rfft ror qrcr

(a) sfrqr*vfl{rn
O) or{ctrs*Tfl{qr
(c) sil-qmfttE<tftfdw

(d) #qqfifuifrq{

q+a rffEr< u' wgffi Efr 6TUr (0),
q{ur 6tur G) qq q+Tf,{ +tur (o) {
Tqqt
(a) 2Q+p*c=c
O) 20+p-or:c
(c) 20-p-c=c
(d) 20-p*o:c

qtq Y$ +t ffirt ifrr + rlvqrfi

200 mm HqT rRFlrs. Hqrt 150 mm
t rtt{qRwirt
(a) o.ls
(b) 0:5

(c) 1.33

(d) t.zs

7.

8.

-..

(2) 2tt5

Crane hook is manufactured by

(a) Forging

O) Welding

(c) Rolling

(d) Extrusion

If depth of cut is 2.00 mm and chip
thickness is 2.50 mm, then chip-
thickness ratio is

(a) t.2s

o) 2.oo

(c) 0.8

(d) 1.33

In metal cutting tlpes of chip does
not depends on

(a) Tool material

O) Workpiece material

(c) Tool Geometry

(d) Cutting conditions

According to Merchant's theory the
relation between Shear angle (0),
friction anele (F) and rake angle (a) is

(a) 20+p+c=c
O) 20+p-oc:c
(c) 2q-p - o: c

(d) 20-B*o:c

Imgth of metal ship after rolling is
200 mm and initial length is 150 mm.
The coefficient of elongation is

(a) 0.7s

o) 0.s

(c) 1.33

(d) t.zs

4.

5.

6.

7.

8.

I
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e. frH{tis$rftFr silqtffi rfi tr
(a) T{ftm

O) u,,dr

(c) nrt
(d) qrqfur

10. srt \td sr{ vq{ il g<re fqft *.dT t
(a) sfr'rTq(

(b) scnfi+tqr*rvr
(c) EFIItrt+tcffiw
(d) gqtffq!fr.R

lt. dqoqurtilfrt
(a) qratqrs*'vtm
O) trflr*aqr€tqqr
(c) rrariqrstoq
(d) r<{t+tTfi

12. tm{ *. sfl-qr wrg sfuq vTn = c t n
' s'r rrFr sq rh rsn Sfuq tdr t
(a) 0.08 * 0.12

(b) o.t3 t o.2s

(c) o.+ t o.ss

(d) Bq+ffi{++tTfi

13. t{W-{rulqfuo' roq { orfuug r{rqr
qrcr t
(a) +If,s

O) \'+s
(c) fusqdq-{rsqn+
(d) rt{t+tTfi

14. nw*r<ur d ev+ qqd flq { fuqr qnr
t
(a) fro,
O) ddr
(c) di-{r
(d) fffim

2tt5
Which of these is not press forming
operation ?

(a) Ituwling

O) Shearing
(c) Pie,rcing

(d) Embossing

Selection of die and''die material
depends on
(a) Operation

O) Quantityofproduction
(c) Shape ofproduction
(d) All of these

In deep drawing process

(a) depth is equal to diameter

O) depth is greaterthan diameter

(c) depth is less than diameter

(d) None of these

In Taylor's tool life equation VTn: c
the value of n for high speed steel is

(a) 0.08 to 0.12

O) 0.13 to 0.25

(c) 0.4 to 0.55

(d) None of these

In electo-chemical pnocess work
piece is made as

(a) Cathode

(b) Anode
(c) Both cathode and Anode
(d) None of these

In galvanising coating material is
used

(a) Zinc

(b) Iron

(c) Copper

(d) Nickel
P.T.O.

9.

10.

I l.

t2.

13.

t4.
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ls. dqq,rqdfuqrqnrt
(i) ur o,.f{ fr
(ii) trd'-qftw,,turc,,dT+

(ii1) qfirq.turdT{
(a) *+etitHfi
(b) (il dr(ii) *r&

(c) (i), (ii) drtiio ufi 
'

(d) r+{t+{rfi

16. FrH + t d(s'-{+dr sr ilq rfi t :

(a) qkd qrffdqi qqr{ qr rr*fr t r

(b) G[ sf,IrtrT qTrrf,t

(c) sqiqqrlFf,r
(d) sqflq q.i sM q+ 6q Hr,rf,

t7. .5o tftrrr fra { 6rffi tpfl} ftt dqr
+frt "(b) 

3

(d) 6

frg-d tqrrd{ rT{ftH { Yrtrqdr vtrd5
TdHq'-nt
(a) fir$ ur te
O) Eiqsrd(Er+d
(c) E{+ t.bt$ftT
(d) (a) str O) +fi

frq+t qeqqkdtr{rfit:
(a) remqB&rt
(b) riqgqfrdrrr
(c) redkqtqk{${
(d) sqtnq$

FF{ { t t+,.ff{r Bq+rr dT +qR 6}
frqfYro q{ q{snfud +,,{+ tE kr qnr
tr
(a)

(c)

fuffidr

(a) 2

(c) 4

18.

t9.

Elr{g

(b) H'r
(d) dq

,.1

15. Broach is used for 
2ll5

(i) Rough cutting
(ii) Semi-finishcutting
(iii) Finish cutting
(a) OnlV (i) is correct

(b) (D and (ii) are correct
(c) (i), (ii) and (iii) are correct
(d) None of these

Which of these is not advantages of
close die forgrng ?

(a) Complicated shapes can be
manufactured

O) High production rate
(c) High dimensional accuracy

(d) l,ower cost oftools and equipments

ln cluster rolling mill no. of working
rollers are used

(a) 2

(c) 4

In electric discharge machining
process die-electric matrices used are

(a) Kerosene oil

O) Transformer oil
(c) None of these

(d) (a) and O) Both

Which of these is not a cold extrusion
method ?

(a) Direct extrusion

O) Impact extrusion
(c) Hydrostaticextnrsion
(d) All of these

Which of the following is used to
gulde and locate the cutting tool ?

(a) Fixture (b) Jig

(c) Vice (d) Claimp

16.

17.

o)3
(d) 6

18.

19.

20.

(1)
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21. rrd qtdr foqr qnr t
. (i) g+: ffiowrirFrrrFrtuqr

(ii) qtr{io'+ iETt rR

(iii) ga: ffiowr ilqqn t trqq{

(a) a;{n (i) vfr t I

O) til efutiU*dt r

(c) 1ii; ak1ii1vfrt r

(d) vt{t'bttTfi

fiF{ { t ft1r * q{u frt qftroiqqr rfi
tr
(r) +dt qRtE tfr qrlat r

(ii) *+ovrabrqrr+qk+ r

(iii) 6da6fisrrr$qfri r

(a) +Td (i)

O) (D st{ tiil
(c) (i), (ii) *r(iii)
(d) v+il++tTfi

lrH t t &rr .Rr mww *'em+nq{
ur ftlqra reT tz
(a) r-Z-t firqra

O) qrdqftr5t}orfuqr<
(c) rr{st{FTElttiTgg}Erfirfl<

(d) qdur Er firfla

qflFr{ qTrrilFlrrti5'tiil6

(a) m,r{qrsrql{ +dtils,.rJuHqT q{

(b) ur4qtrsr<t4 +rtttqkrriqa qr

(c) 6r{qusrql{ *qf*o{qtrfr qt

(d) Bqtffi q,ft q{

23.

24.

t,

G) 2tt5

Hot forgingprocess done on
(i) Aboverecrystallization

Temperatue

(ii) Below melting point
(iii) Belowrecrystallization

temperafure

(a) Only (i) is cqrrect

(b) (i) and (ii) are correct

(c) (ii) and (iii) are correct

(d) None of these

Which of these are not the
assumptions of Merchant's ?

(i) Cutting edge should'be sharp

(ii) Only continuous chips should
be produced

(iii) Cutting speed remains constant

(a) onl, (i)
(b) (i) and (ii)
(c) (i), (ii) and (iii)
(d) None of these

Which of the following is not the
principle of location of jig and
fixtures ?

(a) 3-2-l principle

O) Minimumlocatingpointprinciple
(c) Mutually perpendicular plane

principle
(d) Principle of friction

Mechinability depends on

(a) Physical properties of work
piece matsrial

O) Chemical composition of work
piece material

(c) Mechanical prope,ties of
workpiece material

(d) All ofthese 
P.T.o.

2t.

23.

24.
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25. \r.rtlil"r ftT.E+t qfuffiq str{fl *
ft]Hfrt{qrrtfrt
(a) 2
(b) 4
(c) 6
(d) t2

26. =l[.{dq errm *'fuq qrdT qfr Hrfr q.tfr
t
(i) qk{il{ FrFkT q{
(ii) silqrilrrd.rt
(iii) silqr qfitrdT ulr.r rR

(a) *ro (i) q(

O) (i) *r(ii)vr
(c) (i) dr(iiiyw
(d) (i), (ii) sfu(iii).r

27. tfril +t 6a<r { qF{rrt rmq {
(a) rm,r+tqfrq<r*frt r

(b) HrrkTiFrTt+t
(c) iSrT slqqtT
(d) Bn}ffidt+tTtT

28. ftd-Eefu-+,, uqn *' iflrrrr q{ t{q { t
qt{sdo,rrtz
(a) Wg(IT
O) t$qq
(c) {dqq
(d) $rtnn*

29. Frq { + rrrtqftrwturfrfqrfi t
(a) .Rrt fu{rt
O) .nrrtqfrnr
(c) r1.qrtli6qur

(d) 'Rrtt+t
30. qqtsrqftZfi ir,6il {tlq rfi t

(a) sdYfr{ERr

O) E$ftfrrrrrr
(c) gSilAGrrERr
(d) gfitfrtERr

2115-

A free body has the maximunt
numbers degree of freedom '
(a) 2

o)4
(c) 6
(d) t2

Cutting speed for minimum cost
depends on
(i) Operating cost
(ii) Tool cost
(iii) Tool changing time
(a) onlv (i)

O) ortlv (i) and (iD
(c) only (i) and (iiD
(d) (i), (ii) and (iii)

As compared to rolling in extnrsion
process

(a) Higher process sped
O) l,ower cost
(c) lnwer wastage

(d) None of these

Which of the following works on the
basis ofpiezo-electic effect ?
(a) USM

o) EDM
(c) EcM
(d) All of these

Which of the following is not a gear
finishing method ?

(a) Gear sharing

O) Gear Burnishing
(c) Gear Shaping
(d) Gear Honing

The square,threads cannot be cut by
(a) Usingdieheads
(b) thr€ad milling
(c) thr€ad grinding
(d) thread rolling

(5)

25.

27.

28.

29.
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PROCESSES IN IUANUFACTT]RING

lqfoo.fido:70
[Maximum Marks : 70

qle : O wrqwqffit dq+Cffiqfir#rrr q?ffi t
Notc , Question No. I is compulsory, answer anyfive questionsfrom the remaining.

(it) sdq.f,t7+rrr# g.f,ril 6l ffiqn(trsrzr wr dfuq t
Solve all parts of a question consecutively together.

(ii, tdoyw 6l T+ps*rnq Eflfuq r

Start each question on afresh page

(iv) qht qmqf f .amralt d ffi f ,q.td q*r alq,q* t
Only Englishversion is valid in case of diference in both the languages.

(i) qFHrGrMt qrqwrqf,fl+t ?

What do you rurderstand by Press Forming ?
(ii) EH tfrr stwflfi ffirr { qfi rc6+ I

Differentiate between Hot Rolling and Cold Rolling.
(iii) frfrq nsr+t ffi t{q frfuq-r

Write name of different tlpes of Chips.
(iv) +d{ rT{il+ 6r qrfrowr lw qrqr q( ffi'ql q6 } r

on what basi the classification of Broaching machines is carried out ?
(v) ffiqtqffitqnfrfirt r

Write name of any five tlpes of Jigs. (2x5)

(r) Tiierq{inrrrflr{rt I {gfiBqqrrqftmFl I

Explain Merchant diagram. Explain its use.

(ii) EilFn wr#qqftir frft or fosm qq rm fv* +t {r6r.rdr t srgrf+ r

Explain the principle and process of Plasma Arc Machining method with the help
of neat-sketch. (6+6)

A P.r.o.

1.

2.
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3. (i) *q+ffi+eisrfflqd{dH I

Describe elements of Broach with neat sketch. ,

(ii) frfi{ay5rc*'q6rT$6drfrfrqi+isf,sq+l 
-Explain various processes of External Thread Cutting. (6+6)

4. (i) ftW nsrqkorfiq ftt kwnt nfrr qqHE+ r

Explain Electro Chemical Process with neat sketch.

(ii) *dO iff irrrfird'< t r *rEd #frlrdfrfr$+'* ffi gqiH qrff lqfu +t i

qfi4"srsEn r

Explain principle of Metal Spray. Write down the name of various methods of
metal spray explaining Gas Flame method with figrre. (6+6)

5. (i) {q}ff {{fi fqF{ 6t fuwrtT{q. flq* +t rrtrrff r+ nrsrqt f,qr $r*'qnr q frqr
ffieE r

Describe Compression Moulding with neat sketch and explein its advantages and

limitations
. (ii) flq'rqfiEffifl{ qnr{de+ tv++dI*'errrftfiri r

Differentiate between Jig and Fixture. Write down advantages ofboth. (6+6)

6. (i) srcrsflT{ gk Hr t r fqFra qErsnr{ gfrrl} *'qrq ffi q{ ffi A si qfir*

ffifrt+ I

What is.locating device ? Write down name of, various loeating devices and

exflain any two with sketch.

(ii) flqnrq tr{ qtq Tdt-d I Fr dq} * qnq qd frqrsr fufist I

Write down various forging defects. Write their causes aad rernedies. (ft5)

7. (i) frfiq={rnrcfttnqtrrqrqt*'qrqfuftrt I r+fr tffi #{s}f{€R+yr{EA I

Write down name of vari"ous press operations. Describe any three of *rem.

(ii) qB+rrr rtr'rr ffi t r Anrq nor * qB&n rfiql d Tryr{n I

What is Extusion process ? Explain various tlpes of Extrusion procefs. (6+6)

8. fiTqfrfu(q{ffiffi,
Write short notes on following:
(i) rdqq"1

Tube Drawing
(ii) silqr+t qrg Et ${rP{d t,d qrd qa,'

Factors affecting Tool Life
(iii) rrrfrqf{q{urfqfu

Gear Finishing Method (4)d)


